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HOMEWORK # 4.

(i,) Tor Hhe Areuit sl«oudn) —F-\‘nql H.o valves O_F oll
voltoges, curents and powers indicated, Provide

O“PFm?r;a+L Wit for each ancwer, Box eoch answer.
Provide oxppropr?a{-& s gn ‘Per each power value (based

on Passiva Cnvxvem-l,-?on),
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(30 Re«Pm'\‘ P"O\O\em (i—) —F@r Hie ettt shown L:elow.
?.4_ Ri: ikﬂ_.

P=f Pu=? P=T
U—) 'PO'_ endh cirentt shown below.

(3) 'Re—‘)w"l‘ Problem
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(L{-) Re_‘)o_oc‘“ Pmblem (i) -FW‘ Hie o Sreutts shown ]O!LlOW.

Pi=? po=f Ps= 7

(5.) Assume eadh element shown to ke o FN“"‘_
o,c. o closed ASvantt. Bnd 4he power o{’, eoch
ond ndicate s Sﬂan based on Pass'uve, convention,

Box cochh answer and den't -P‘DPGQ:‘" +v PFOV1DIQ
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(6) For +he Sreuth s\«\own)—(l‘incl the Vol—l-aﬂe_,) current ond
o_(,’_ eacdh element | Thndicate your vol—\wt.ge,
—‘f.’eg amcL C-uf!‘t'el/\'\" ol-:rac'ﬁans Tr\ —qu_. C:r-c,u‘f‘f‘,

Provide PowWe™

R,= 10ksL. Values based on
V= 140V Passﬁw_ conventioa.

Povde.r‘
polors

tﬁ_'—-’ iOMA 4




(#) Repeat Problem (6) for the cirentt shown below.
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(g) RQ—FM+ Problum (4,) —P}v- Hre c_‘f'.m.f?—l-_g Sb\own La_a,'ow.

1= iOmACD éj} é U= 10V

Rq_"'d—ok.n- 1)'3 loV ":L“‘iOMA R.= iOkn_

(‘W) For the Grantt shown loe-low) %m:l e power oﬁ
ecochn  elerment bosed en Fa\.ssﬁ've_ conventiom omda
clheck the conservyation o_F. energy Pﬁncﬂ‘:\a,
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Q‘LD> Tor the SW*H’“V\ Svrenst shown, -ch:l~ He valve o_@
Heo coment L ot t=2s amd t=TFs,
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Q.L‘.L) Tor the dreuwdt shown :
@) Fnd He VOH'aae_ Vi, coment Uy amd power Py

(b) Reverse Hae Folw‘:“ly O_ﬁ He 6V \lcaH-aae.. Sowure_
ond rePcLovl: Part (o).
(c_) Ve,r{i']cj C.once,r'\locﬁen 0{? enenaﬂ PT'%V\CXPLL -Fo'r‘ LO'HA Pogr'h;
Rd__:ngL

(42) TFor Hthe crecit shown

() Rnd +He vO!Jraa—a vy, ewrent 1) and power py -

(b)  Reverze the d¥ection 019 Hie BOWA curtent sourze
and vepeat Part (o).

©) Vedtfy conservation of energy Prem.:P[e, for both ports,
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